o
[N

<o @> (rad)
o

©
s
I

-0.05

=
[4)]
I

T EEYEYe€ls

................................................

o =04

Rati

0.95!

3 -2 -1 0 1 2 3

TP n (PCA to beamline)

RS ES S S

38 3 : : : :

© 0.06f------ A

v F : : : :
0.04F - R SRERREE
Y SRS SN S S

............

............

............

~0.02f -k

-0.04
-0.06
-0.08

10

Ratl

0.5

_O-i-

2

3

TP n (PCA to beamline)

—s=— DQM_V0001_R000000001__Global__mkFitbase_ RECO
—— DQM_V0001_R000000001__Global__mkFit-cand__RECO

< 00, > (M)
|
N
(=] o

|
N
o

|
D
o

=3 -2 -1 0 1 2 3

TP n (PCA to beamline)

[y

o

<op/p. > (70)

............

Ratio

0.9

(5]

23 -2 1 0 1T 72 3

TP n (PCA to beamline)

50

40

<od,> (um)

30

20

10

=10

Ratio
N

0.95

3 -2 -1 0 1 2 3

TP n (PCA to beamline)



	Contents
	Page 1


